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1. Express as a product.

Watch Video Solution

sin 4θ + sin 7θ

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TDJNBzBwX6hB
https://dl.doubtnut.com/l/_E3Mkha69YCgd


2. Prove that .

Watch Video Solution

= tan A
sin 5A − sin 3A

cos 5A + cos 3A

3. Prove that

Watch Video Solution

(sin 3A + sin A)sin A + (cos 3A − cos A)cos A = 0

4. If three angles A,B and C are in A,P. Prove that

.

Watch Video Solution

cot B =
sin A − sin C

cos C − cos A

https://dl.doubtnut.com/l/_E3Mkha69YCgd
https://dl.doubtnut.com/l/_KkV9SAA4DBTX
https://dl.doubtnut.com/l/_EVkEzPJKWmwX
https://dl.doubtnut.com/l/_TbXR8glWhYXE


5. Prove that .

Watch Video Solution

sin 38∘ + sin 22∘ = sin 82∘

6. Prove that

Watch Video Solution

= tan( )cot( )
sin A + sin B

sin A − sin B

A + B

2

A − B

2

7. Prove that .

Watch Video Solution

= tan 2A
sin A + sin 3A

cos A + cos 3A

https://dl.doubtnut.com/l/_TbXR8glWhYXE
https://dl.doubtnut.com/l/_YUa2IZ1EWGJA
https://dl.doubtnut.com/l/_V6LlIICk4nJH


8. Evaluate:

Watch Video Solution

sin 75∘ ⋅ cot 15∘

9. Prove that 

Watch Video Solution

= tan( )
sin A + sin B

cos A + cos B

A + B

2

10. Prove that

Watch Video Solution

2sin cos =
5π

12

π

12

√3 + 2

2

https://dl.doubtnut.com/l/_lEU5AkXAS0la
https://dl.doubtnut.com/l/_wi0mlEJyn1su
https://dl.doubtnut.com/l/_FHEo2uG1dwWx


11. If  Prove that 

.

Watch Video Solution

=
sin(θ + α)

cos(θ − α)

1 − m

1 + m

tan( − θ)tan( − α) = m
π

4

π

4

12. If  Prove that 

.

Watch Video Solution

cos ecA + sec A = cos ecB + sec B

tan A tan B = cot( )
A + B

2

13. Prove that

Watch Video Solution

= tan θ
sin(θ + ϕ) − 2 sin θ + sin(θ − ϕ)

cos(θ + ϕ) − 2 cos θ + cos(θ − ϕ)

https://dl.doubtnut.com/l/_Kamorxsze031
https://dl.doubtnut.com/l/_k126hvmEr0Ke
https://dl.doubtnut.com/l/_PWskc2PF0JkA


14. Show that

Watch Video Solution

sin α + sin β + sin γ − sin(α + β + γ) = 4 sin( )
α + β

2

sin( )sin( )
β + γ

2

γ + α

2

15. Prove that .

Watch Video Solution

cos 10∘ cos 30∘ cos 50∘ cos 70∘ =
3

16

16. Prove that 

Watch Video Solution

sin 20∘ sin 40∘ sin 80∘ =
√3

8

https://dl.doubtnut.com/l/_PWskc2PF0JkA
https://dl.doubtnut.com/l/_8co1QvBGa8uv
https://dl.doubtnut.com/l/_7xnDMxCCdkZn
https://dl.doubtnut.com/l/_T2hH2vAqWkCq


Watch Video Solution

17. Prove that

Watch Video Solution

sin 10∘ sin 50∘ sin 60∘ sin 70∘ =
√3

16

18. Prove that 

Watch Video Solution

tan 20∘ tan 30∘ tan 40∘ tan 80∘ = 1

19. Prove that

Watch Video Solution

= cot 6A
sin 5A − sin 7A + sin 8A − sin 4A

cos 4A + cos 7A − cos 5A − cos 8A

https://dl.doubtnut.com/l/_T2hH2vAqWkCq
https://dl.doubtnut.com/l/_xG0mpnaK8zgd
https://dl.doubtnut.com/l/_JTCZQ9LpB5j5
https://dl.doubtnut.com/l/_AHuxSQ0enr1b


20. Prove that

.

Watch Video Solution

(cos α + cos β)2 + (sin α + sin β)2 = 4 cos2( )
α − β

2

21. Prove that

.

Watch Video Solution

sin α + sin(α + ) + sin(α + ) = 0
2π

3
4π

3

22. 

Watch Video Solution

2 cos cos + cos + cos = 0
π

13

9π

13

3π

13

5π

13

https://dl.doubtnut.com/l/_uYIUu86gsYym
https://dl.doubtnut.com/l/_SaXz35WZDNBD
https://dl.doubtnut.com/l/_dA9N8IRPddWx


23. Show that 

Watch Video Solution

tan 20∘ tan 40∘ tan 80∘ = √3

24. If and Prove

that 

Watch Video Solution

cos A + cos B =
1

2
sin A + sin B =

1

4

tan( ) =
A + B

2

1

2

25. If .Prove that 

Watch Video Solution

sin 2A = λ sin 2B

=
tan(A + B)

tan(A − B)

λ + 1

λ − 1

https://dl.doubtnut.com/l/_dA9N8IRPddWx
https://dl.doubtnut.com/l/_nkzxVwVxI5b9
https://dl.doubtnut.com/l/_TNmQESZgFjoI
https://dl.doubtnut.com/l/_CmTkrOmlCQzb


https://dl.doubtnut.com/l/_CmTkrOmlCQzb

